" REINF CMU (FOR

& RENF OMU (FOR RENF SEE DWG 53.1) & RENF &MU (FOR 1'-0" 3 5/8" STEEL STUD
REINF SEE CWG §3.1) {’?EEKA‘,QE,@DEE“ 1 7 CONG TORRING W/ REINF SEE DWS S3.1) | BASE TRACK W/ 3 LECS
, 2” CONC TDPPING W/ I FIBER RENFARCING 7] y 2" CONC TOFFING W/
[T FBER REINFORGNG FADIANT HEAT TL;EES B | FIBER REINFORCING
RADIANT HEAT TURES SEE MECH OWES, BRIGK VENEER
[EB?IE(IE:KA@F_.l T (SEE. MEGH DWES) [BSHE?(AVENEEC R— 1 (SEE ARCH) | /‘F;&'Am'cfg" T;-'BE CWSArchiteuts
| M5 T/ RELEIVING ANGLE 5 T X }‘G PLANK O Arehitsciure
BOND BEAM E3 ] ELEV=127"—4" A1 1 \ ELEV=VARIES
TwYéz#BI:I:INT. | | M ’*JE—@ . ODJOOUOOOO& Apsen Pluanfng
° | Lanx14_ BOLTED TQ NALL W( ._h. " HK PLANK HIK PLANK Value Bassipn
N . 3/4% THRCADED RODS @ 18 BOND BEAM HDLLDW CDRE
| lymi 8" HK PLANK og. I'%‘EGNTEE&%EI&"R_FAST I SCUD GROUT TYP. %IME CONT. | é{; T$FU.P PLANK O 454 Combniland drene
| 11 SOLD GROUT TYP- | Fortinnd, 1E 04111
v I 1/8°x3" BEARING
1/8'x3" BEARNG FAD TYP- A |
PAD TYF, BAND BEAM
W/ 245 CONT. 3 5/8" STEEL STLD
DETAIL / AN\ DETAIL / B\ DETAIL /Tt \ SECTION /D \
G &1/ s & R &1/ T \&=1/

NATE: 1. #TTAU'I UGHT BABE SLIP AND BASE TRAEK

~—— FACE OF PRECAST BEYOND O CONC PLANK AS REQUIRED BY DESIGN.

|
11 - -
— FACE GF PRECAST 8" RENF_CNU (FOR
Ha 174 PL3/8x12x1'—C" W, "o BReK VENEER———7] | | REINF SEE DWG S3.1)
|| A (SEE ARCH) g8 1/4 PL3/BX1251"—0" W/ \
T4 5/8" 21UNK MANUF 2)1/4"0%6" HEATED P 2" CONC TOPPINGW/
et - 1/PARAPET EL +15/g- STUDS EVBED BY THE FIBER REINFOREING
: L3/8&ax s -0 1 T1 (SEE ARGH) |4 PLANK MANLIF. TYP T
——— srmok veneer —{/] || &' HOLLOW CXRE TYP-%J\L | I—: 3/Bx3x3'-0" i
(SEE ARCH) PLANK — - — FEE RL=128-0
1/ _RELEVING ANGLE I : | p—— —— /0 Canknibnd Soury WIGA
HEV=127—4 000000000 —L/R0cE_RLANK 1/ RELEVING ANGLE J AN 00000 fﬂ)f[) 00¢ R Y R ———
o e S Y ‘ e = Ao~y e
GALV;::JI/ZzEDnnNT E*Z‘J" /D-‘l MAX ~EMBED SHALL BE | L (E;']'BE/),;EY“-H?'E';%!'D ns'?,EES'MAg,Lﬂ;E";/ SOUD GROUT TYR: T FAxB'—0" GROUTED INTO —_—
L7x7x3/8x1'~0" LONG | i LBBx1/2 CONT (A F/Eme HEADED STUDS. SEAGED I KEYWAYS © 48" O.C. TIF.
CAP TYP. L7x7x3 /8x1"-0" LONG -
| ; ] 1/8°%3" BEARING
P SYANS AL /24 THX—8 1/4 k PAD TYP.
Al ‘suale 174p &

JYP
LaxAx3/Bx0'-E1/4" W/ VERT SHERT SLOTTED ALIGNMENT

HOLES FOR 3/4°® ERECTICN BOLTS TYP.
INSTALL AT EACH ENBED 4'—0° D.G.

DETAIL /E\
=TT &

TYP KEYWAY REINF & BEARING DETAIL
NGTER:' 1. ALL FLANK SHALL HAVE 3°
MNMUM BEARING ON CMU.

3 5/B" STEEL STUD 174N 4

JYP
LAxx3/Bx0'—B" W/ VERT SHORT SIOTTED ALGNMENT

/o \ N DSL AND 13/16% HOLES AS SHOWN
DI::T.Al_L S \ FoR 3/4% A325 ERECTION BOLTS TYP.
Y& =10 \33.1/ INSTALL AT EACH EMEED 4'-0" Q.C.

3/

DETALL /7
' %

YMCA APARTMENTS

NQTES: 1, THE 3" TENSION STRAP AND GONNEGTKIN EMBED MAY NGTE: 1. ATTACH LIGHT GAGE SLIP AND BASE TRACK . ut 231
BE ELIMINATED IF THE PLANK NANUFACTURER CAN TO CONC PLANK AS REQURED BY DESIGN. ©4'-0" GROWTED INTO
DEMONSTRATE THAT THE L7x7 CONNECTIEN IS E KEYWAYS @ 48" ar. HIOH STREET

ADEGUATE TO SUPPORT A 2,000 LB VERTICAL
LOAD AT EA. CONNECTION LOCATED AT THE

Hoh Srat - Pyilind, Mahe
CENTER QOF THE BRICK VENEER.

1 TYP r—— -
TYP l
GROUT FOGKET S0LID. — ] i
| B—4" TOS EL = {S5EE PLAN) . \ mEl B HK PLANK (FLOOR & R9IAF)
T | T G 1
L 8°x3” BEARING
~—— BRICK VENEER (SEE ARCH) \ 3/4"d THRD' ROD. BOND BEAM W/ —r‘- N .JI—- P;/QD F
8" RENF &MU I » \
\ 3/4'a x 3° THRD ROD 2#5 GONT, \_::_\ W BEAM v 8 REINF CMU [FOR
. VELD TQ BRG PLATE Tl PL3/4x8X1'-2" W/ REINF SEE DWG 537) Project No 26t
B JIRE. RETARTENT \ PL 3/4B—3" W/ (3) 1/3¢ (2) 1/2° x B” HEADED —
) ] x 8" LNG HEADED STLDS sTun TYP KEYWAY REINF DETAIL @ EXT. WALL 0 Froug T
[~ Il Py =g FRAMNG DETAILS
Y~ GRrouT S0UD 8" REINF oMU {SEE #8 FULL HIEGHT NOTES: 1. ALL PLANK SHALL HAVE 3"
DWG 91.3 FOR REINF} 4 BELOW BEAM (TYF). NINIMUN BEARING ON CM..
HH- —————GrauT soun
LINTEL SCHEDULE
MASONRY sale YL
LINTEL SIZE
OPENTNG Diter DEGEMGER 1D, 2004
e
CLP L e oS B - FLAN) TR STEEL P 10 -D L3 /X3 1/2x5/16 RevEbIS
N 53 0177 A A (SEE DWG 51.2) F-1"-4-6" L4xd 1/2X5/16 (4" LEG VERTD /A VALUE ENGINEERNG
|l —BCSJ1E STu0 JdIST W/ 310 TYR REVISIONS
SCREWS NIN L/ave £-7'-6-) | LSxa 1/2x5/16 (5* LEG VERTS A
BCSJ16 CEILNG
YJDIST TYR. /N 6/-14-8'-07 L6x3 1/2x5/16 (6' LEG VERT> A
\ ] 3 /4w 2" w/ :2) 1/2¢
I \ A AN . X6 INa HEADED ST, NOTES® 7AN
| | Set _TOS B = 109°—10 1. PROVIDE LINTELS OVER ALL OPENINGS A
CK VEN EXCEPT WHERE LINTEL BLOCKS ARE
\_ I ?SHEE EER T sep 2. PROVIIE ONE ANGLE FOR EACH 4" OF VALL A
s . A BTNV | | | e
W8 (SEE PLAN) TYP. BEAM /TUBE /WT BEARING DETAILS EQUAL TO DR GREATER THAN 1 1/B TIMES
CURVED STEEL PLATE. . / / THE ANGLE PROPERTIES FTR A 4° WALL
TYP SECTION AT SIDE ENTRY ROOF e - -r THICKNESS,
— NOTE: 1. ATTACHMENT OF STEEL TUBES TO CMU SHALL BE THE SAME 3, PROVIDE 8" OF BEARING @ EACH END
/A" =170 OF ALL LINTELS.
NOTES: 1. BRACE TOP EOGE OF ROOF USING SOUD BLOCKING BETWEEN 4. ALL EXTERIOR LINTELS SHALL BE
RAFTERS AND DIAGDNAL FLAT STRAP QR STUD BRACNG (NGT SHOWN " \OT-DIPPED GALVANIZED.
FOR CLARTY.
2, REFER TO_SECTION 2/5%1 FOR CURVED PLATE_REQUIRMENTS:
PARLAE

ISEUED FOR PERMITTING



